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question carries 1 mark.
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3. The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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4. The Test Booklet is printed in four (4) Series, viz. El The Series, or or or El

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
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5.

10.

11.

12.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle 1s darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.
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e.g.: If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
€03 (DI, 330, (5505085 1 & 2saoe0 (2) 900055, w63 80D DE5&S0me rHYoSSSH. :
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For each wrong answer 1/3™ of the marks prescribed for the question would be reduced.
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Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.
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Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
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Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.
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Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.
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If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
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Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.
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Section -1

If a piece of wood and a piece of iron are placed
in a fridge and taken out after 15 minutes,

which one would feel more cold on

touching ?
(1) Wood
(2) Iron

(3)  Both will give equal feeling

(4) Depends on climate

If Limestone (Calcium Carbonate) kept in a
test tube is heated with a spirit lamp and a
burning match stick is kept near the mouth of
the test tube

(1) The fire will be extinguished

(2) The stick will glow with higher
brightness

(3)  The stick will glow with same brightness
(4) The stick will explode

Rancidity is a/an

(1) Reduction reaction

(2) Oxidation reaction

(3) Neutralization reaction

(4) None of the above

The rear view mirror of a motorcycle shall be a
(1) Flat mirror

(2) Concave mirror

(3) Convex mirror

(4) Half concave and half convex

(4)
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Why are tungsten filaments wused in

incandescent bulbs ?

(1) High specific resistance and high
melting point

(2)  Low specific resistance and high melting
point

(3)  High specific conductance

(4) Low specific heat

Which of the following inputs is required for

photosynthesis to occur ?
(1) Oxygen

(2)  Chlorophyll

(3)  Glucose

(4) Hydrogen

Which of the following is the longest part of

the alimentary canal ?
(1) Oseophagus

(2) Large Intestine
(3)  Small Intestine

(4) Stomach

Kwashiorkor disease is a result of
(1) Protein Deficiency

(2)  Vitamin Deficiency

(3) Carbohydrate Deficiency

(4) Water Deficiency

(5)
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9.  Which of the following is a parasite ?
(1)  Yeast
(2)  Mushroom
(3) Cuscuta
(4) Leech

10. In which part of the heart, would there be less | 10.

oxygen in the blood ?
(1) Right Atrium
(2)  Right Ventricle
(3)  Left Atrium

(4) Left Ventricle

11. The magnitude of root pressure would be |11

minimum during
(1) Summer

(2) Winter

(3) Rainy season

(4) Autumn

12. Which gas is used to ripen fruits ?
(1) Xylene
(2) Bromine
(3)  Chlorine
(4) Ethylene

13. Which gland is associated with Diabetes ?
(1) Thyroid
(2)  Spleen
(3) Pancreas

(4) Liver

(6)
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13.
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14.

15.

16.

Which Indian woman scaled Mount Everest

five times ?

(1) Bachendri Pal

(2)  Anshu Jarnsenpa
(3) Malavath Purna

(4) Arunima Sinha

Who is the Prime Minister of France ?
(1) Emmanuel Macron

(2) Edouard Philippe

(3) Marine Le Pen

(4) Bernard Cazeneuve

What is the theme of the National Technology

Day celebrated on 11t May, 2017 ?

(1)  Per drop more crop

(2) Make in India

(3)  Technology for life support systems

(4) Technology for inclusive and sustainable

growth

(7)
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17.

18.

19.

Which of the following is the South Asia
satellite launched by India for the benefit of
SAARC countries except Pakistan ?

(1) GSAT-7
(2) GSAT-8
(3) GSAT-9

(4) GSAT-9A

As per Swachch Sarvekshan, 2017 conducted
by Ministry of Urban Development, which is

the cleanest city in India ?
(1) Surat

(2) Visakhapatnam

(3) Mysuru

(4) Indore

As per the new definition adopted by India, a
person is treated as blind if the person is

unable to count fingers from a distance of
(1) 3 metres
(2) 6 metres
(3) 2 metres

(4) 4 metres

(8)
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20.

21.

22,

23.

Who is the winner of Australian Grand Prix,

2017 ?

(1) Lewis Hamilton
(2) Valterri Bottas
(3) Sebastian Vettel

(4) Daniel Ricardo

Who is the latest winner of Deodhar Trophy ?
(1) Gujarat

(2)  Mumbai

(3) Karnataka

(4) Tamil Nadu

Where does most of the Indian wurban

household waste go ?
(1) Compost

(2) Landfill

(3) Recycling

(4) Incineration

As per Census 2011, approximately how much
percentage of rural households in the country

get tap water ?

1 31%
(2) 26%
3) 20%
4) 12%

(9)

20.

21.

22,

23.
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24. In many aquatic bio-systems, the biomass
pyramid is

25.

26.

Non-existent

(1)

(2) Upright

Inverted

3

(4)

Ever changing in shape

Economic Sustainability

(1)

Helps to make products cheaper

(2) Creates wealth to

improve

standards

3

Recycles materials to save on costs

(4)

Creates peace with border nations

living

Biodiversity is higher in the regions near the

(1) Equator

(2) Poles

3

Tropic of Cancer

(4)

Tropic of Capricorn

24.

25.

26.

TR 20 Voo B SOV BD
BD§0°3 PEE

(1) &oG

(2)  Qerdorr %‘63. DEE &P 000D

3) BERIVS DOWE ™ &otod

(4) e35°00 SHGTI ORIV 0H

€908 c“oo?odeéso ?
@ @

(1) &S\ SIEM BV Sirco

(2) BAD  HAEFLD  D0ZPHWOTEIS

Q0D WYRRB

(3) DD S0 DGO HIDO
) 0

DIBICTAD  BRod

(4) RO BTE T°0d D00

?3555236_350 & ozl
DATOS” &) D

agcesﬁ:o

(1) a;iJ"&‘JJC,SzS fol:5)

(2)  yoren
(3) So 88 3

(4) 086



OWH/EP/444

217.

28.

29.

30.

Bhitarkanika in Odisha is a
(1) Teak forest

(2) Hill resort

(3) Mangrove forest

(4) Temple town

As per Government Rules, collection of

e-waste is the exclusive responsibility of
(1) The distributor

(2) The consumer

(3)  The retailer

(4) The producer

Which of the following countries withdrew
from the Kyoto Protocol and renounced its
commitments ?

(1) UK

(2) Canada

(3) Germany

(4) France

The natural Nitrogen cycle is disturbed
mainly by
of Urea in

(1) Indiscriminate usage

agriculture

(2) Indiscriminate usage of Phosphate in

agriculture
(3) Borewell irrigation

(4) Mechanized cultivation

(11)

217.

28.

29.

30.
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31.

32.

33.

34.

What is the major cause of deforestation in
the world ?

(1) Demand from paper industry
(2) Expansion of agriculture
(3) Firewood requirement

(4) Forest fires

Which trees are cut by smugglers in
Seshachalam Hills for illegal export ?

(1) Teak

(2) Rosewood

(3) Red sandalwood

(4) Ficus

Out of the birds given below, which bird is the

most affected by cell tower radiation in India ?

(1) Parrot
(2) Pigeon
(3) Crow

(4) Sparrow

Approximately how much length of Indian

coastline is prone to Cyclones and Tsunamis ?

(Select nearest figure)
(1) 3700 km
(2) 4700 km
(3) 5700 km
(4) 6700 km

(12)

31.

32.

33.

34.
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35. The ground shaking during an earthquake |gs.
would be higher in
(1) Hard Soil
(2)  Soft Soil
(3) Rocky Soil
(4) Shaking does not vary with soil type
36. What is the best shape of a house in cyclone 36.
resistant architecture ?
(1) Square
(2) Rectangle
(3) L Shape
(4) U Shape
37. In which of the following places landslides are 31.
a frequent hazard ?
(1) Tamil Nadu
(2) Madhya Pradesh
(3) Odisha
(4) Uttarakhand
38. Out of the ones given below, which is not an|gg.

essential element for a rescue operation
immediately after a disaster like Tsunami or
Earthquake ?

(1) Manpower

(2) Money

(3) Equipment

(4) Method
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39.

40.

41.

Which Section of the Andhra Pradesh
Reorganization Act, 2014 states that the
Centre shall assist the successor States of
Andhra Pradesh and Telangana to raise
additional police forces ?

(1) Section 6

(2) Section 7

(3) Section 8

(4) Section 9

After reorganization, the High Court at

Hyderabad is known as

(1) High Court of Andhra Pradesh at
Hyderabad

(2) High Court of Telangana

(3) High Court of Judicature at Hyderabad
for States of Andhra Pradesh and

Telangana

(4) Andhra Pradesh & Telangana High
Court

Which Section of the Andhra Pradesh

Reorganization Act, 2014 extends existing

access to higher education to students of both

States for 10 years ?
(1) Section 94
(2)  Section 95
(3)  Section 98

(4) Section 100

(14)

39.

40.

41.
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42.

43.

44.

45.

After reorganization, what is the approach
being followed by the State of Andhra Pradesh
to achieve high growth rate ?

(1) Mission Mode Approach

(2) Business as Usual Approach

(3) Long March Approach

(4) Slow and Steady Approach

Who is the knowledge partner for providing
technical assistance to the State of Andhra
Pradesh to achieve high growth in Primary
Sector ?

(1) ICAR

(2) ICRISAT

(3) CRIDA

(4) MPEDA

In the area of Animal Husbandry, which of the
following is not identified as a key growth
driver by the State of Andhra Pradesh ?

(1) Milk

(2) Meat

(3) Eggs

(4)  Fur, Skins and Hides

If Kilo is Thousand, then Deka is
(1) One

(2) Ten

(3) Hundred

(4) Ten Thousand

(15)
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45.
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46.

47.

48.

In the diagrams given below, what comes

next ?
N 2
'.\ | | | | I \ J '. .
N \\:_ \“ ’//
—\
S /(/E \"'. )
N~/
N\
@ (((O))
=/
.
W)
N
@ |@3\\1\|\
&

Find the next number in the series :
0, 6, 24, 60, 120, 210, ?

(1) 320
(2) 330
(3) 336
(4) 356

Find out the missing number in the diagram.

/6 /7\ /8

Aa AN AaA A2 A
/9\ /2\ /9\ /8\ /7\ /4&\
1 11
2 12
3 14
4 15

(16)

46.

47.

48.

80& T°3eS° BT eS"éo& 5006 ?

/ // ‘\ . \ n
{ | | | | . H
\_ \\ \\5“ =/
1) ./ /E :\\
. Q\ /
Ve — N\
(2) |. /';\i\] :
N/
(3) I/*f’r_“/\,\l
“ ﬂ’f_f\?
N

EJRSEEN(S DEHS® SDHTD Do
0803 - 0, 6, 24, 60, 120, 210, ?

1 320
2 330
3 336
4) 356

300 DTG’ VF°) GEAD DG SoGHVVD
ENEENEY (Bodol ?

/6" 7\ , /8

Az A A2r A A 2
/9\" /2\ /e\ /3\ /7\ /a\
@» N
@2 12
3 14

4 15
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49.

50.

51.

52.

If NUMBER is UNBMRE, then GHOST would
be

(1) HGOST
(2) HOGST
(3) HOGTS
(4) HGSOT

Balu travelled from his school straight
400 metres. He then turned left and travelled
500 metres straight. Then he turned left again
and travelled 400 metres straight. Thereafter,
he turned right and walked for another
600 metres straight. How far is he from the
school ?

(1) 1kilometre

(2) 1-1kilometres
(3) 14 kilometres
(4) 1-8 kilometres

Anu is mother of Bala and Charu. Damu is
husband of Charu. Mala is wife of Bala. What
would Damu call Mala as ?

(1) Sister-in-law

(2) Niece

(3) Sister

(4) Daughter

If “/” is for addition, “+” for multiplication, “ -
for division and “X” for subtraction, then

10 + ((8/2) — (7 x 2)) would be

(1) 20
(2) 30
(3) 50
(4) 100

(17)

49.

50.

51.

52.

NUMBER &0 UNBMRE 00,
3N GHOST DB

(1) HGOST
2 HOGST
3) HOGTS
(4) HGSOT

eren 85 S ok ddore
400 D DD, ST
DEHPIDL 86A 500 e BB\
DY, BOTS Py A DD BOH
DG 400 0D DY, 3 SETS
B & DY SN BIY T 600 DK
DETCD. B AN c“w’bé Qoo
os BrGoeS” &) ¢?

1) 18S°eod

2 1.1 85°werd

3) 1.4 5"

@ 1.8 85"

e VB0 TP 3§ k0. et PG
DD AW, eV Mg, ey v,
TP STV DD DLVFED?

(1) OOS/ D08

©2) 3w
3) D6
(4) &P

“«/7 &S (DO, “+” (DEseGo Y, “
2TPEFG0 (DG H0BATL “X” ADDS (O
29003 )N 10 + ((872) — (7x 2))
DA0HB0d ?

1 20
@2 30
3 50

4) 100
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In questions no. 53 to 57, look at the cost of living
graph showing variation of Inflation Index with
years (Y0, Y1, Y2 and Y3) and answer the following
questions :

120 Cost of Living
110
b
& 105
S 100
g
£ 95
= 90
85
80
YO0 Y1 Year Y2 Y3
---0-- Food - -0O- - Houses
—O6— Petrol  =——@=— Water
53. In the diagram, what is the base value of the
Inflation Index ?
(1) 80
(2) 120
(3) 100
4) 0
54. Which of the items showed increase in price in
the period Y2 to Y3 ?
(1) Houses
(2)  Food
(3) Water

(4) Petrol

(18)

BDFRE (53 - 57), 8ot QAND BDD Dy
T & DG Doddyoro (YO, Y1, Y2,
200030 Y3) SN 2 &S° SEEIP O

003900, ob  VHVH DWW
(9BotI0s: :
B3 855015355&)
120
£3
3
o
% 90 T
Q) g5 \O—
80
YO0 Y1 Year Y2 Y3
--O-- 8B --0-- Ko)‘beex)
—— % —— 2165°S

53. DBV’ FDND GT[ONe 2D ees
DD oth?

(1 80

2 120

3) 100

4 O

54. Y2 2008 Y3 o068’ O 00 ¢6
26AA?

(1) fySten

(2) e808C0

3)

4) 5w
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55. Which of the items has the highest inflation
rate ?
(1) Houses
(2)  Food
(3)  Petrol
(4) Water

56.

57.

What is the average increase in price for

Houses from YO to Y2 ?

(1) 5%
2 25%
3) 10%
4) 0%

In which period, water prices had the highest

percentage decrease ?

(1) YotoY1l
(2) Y1ltoY2
3 Y2toY3

(4) Same in all years

(19)

55.

56.

57.

D DD SO gszgoacao £dheod ?

(1) fySten
(2) es5%C0
3) e
4 D

YO &00& Y2 56% ¢yt ¢36eS° it
DEAER ot ?

1 5%
2 2.5%
3) 10%
4 0%

9 R0DBYTV G 5H) Goen DSOS
[ogH00 égmn?

(1) YO o Y1
2 Y1 &od Y2
3) Y2 &od Y3

(4) eab‘l K)obefebo“e)ef AP0
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58.

59.

60.

61.

Pir Panjal mountain range is in
(1) Himadris

(2)  Outer Himalayas

(3) Lesser Himalayas

(4) Higher Himalayas

Which of the following is the highest peak in
Eastern Ghats ?

(1) Arma Konda (Sitamma Konda)
(2) Mahendra giri
(3) Deomali

(4) Gali Konda

The Deccan Plateau is generally slanted
towards

(1)  South

(2) East

(3) West

(4) Flat

Out of the following, which is the longest canal
in India ?

(1) Buckingham Canal
(2) Sutlej Yamuna Link Canal
(3) Sharda Canal

(4) Indira Gandhi Canal

(20)

58.

59.

60.

61.

D6 VoS DOS B3 & Fod TBS
&é;)‘&?

(1) I

(2)  &PETY TPAVOIT
(3) Qi) Trdrwairen
4) &) & rdroairen

308 TS BPEY DO FeY'D
B0 & JTo 2O ?

(1) es6) Eocs (desdvy Eoct)

(2) oo HO

(3) QD Hrd

4) ™8 ot

GER0 DEFPA JTOE T DD
€0t0od 7

(1) &e0

(2) Sy
(3)  DEG
(4) B

208 TS° DO er6S S°D A FEDD
sPeD 7

(1) e30H 5O sPed
(2) VD 0REBVT® YRVVOTTR S°D
(3) BB sPD

(4) QoOT® Tod Seed
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62. Approximately, how much percentage of GDP | 62.
of India is spent towards public expenditure

on education (choose the nearest figure) ?
1 1%
2 4%
3) 8%
4) 12%
63. Which of the following is mot counted while|gg.
computing GDP ?
(1) Value of final agricultural produce
(2)  Value of services rendered by Banks
(3)  Value of motors produced by Industry
(4) Value of services rendered by a
Housewife
64. What happens to production in agricultural |g4.
sector, if large number of people shift out of
agricultural sector in India ?
(1) There would be marginal decrease in
production
(2)  The production may not decrease
(3) There would be steep decrease in
production
(4) None of the given answers
65.
65. In the recent years, what is the approximate

ratio of shares of formal and informal sectors
to the GDP of India (choose the nearest
figure) ?

(1) 25:75
(2) 30:70
(3) 50:50
(4) 70 :30

oS Qo wécﬁreﬁbe}éﬁ VAT
Dod TS0 P DG S0l DD DAY
BT O (D Dewdd BEG)?
L 1%

2 47
3 8%
4 12%

Sod IS BID Jro ADrSN
(530383 T S°S SREW ?

(1) 2908 HIDIPOD ESND Dewsd

(2)  ergosHD 29000 VAL DLV

(3)  DOFL BT &BYY WD 2°erd
®© DD

(4) (e oo VDL Ded

TS & de D DopgS  Haew
a5oavcm Sotfo ol DV, I3\
bzgaﬁb"omdoﬁ ST D0HB0H?

(1) &3\3S” EQM SAHER oot
(2)  &BD SESY Doy

(3) &Y e Srhdod

@) PR DO DAPTTVS” IO

B850 oSSt rod e
ADrSNFS”  Do0BS, oL
Gore e PG o (D

DD (otsod:)?

(1) 25:75
2 30:70
3 50:50
4 70:30
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66. Which of the following would not cause major | gg.
influence on the climate of a place ?
(1) Latitude
(2) Longitude
(3) Altitude
(4) Distance from the Coast
67. Which of the following is the largest|67.
contributor to Green House Effect ?
(1) Methane
(2) Carbon dioxide
(3)  Chlorofluorocarbons
(4) Water Vapour
68. Which of the following countries did not join | 68.
the League of Nations ?
(1) China
(2) India (British Raj)
(3) Cuba
(4)  United States of America
69. As per the Gregorian calendar, the Bolshevik |69

Revolution (October Revolution) occurred on
1) 25™ October

2  15™ October

(3) 7" November

(4) 15th November

20HTIS’ VB 28 PBFY TT°HGL0 D
DT D0 WD ?

(1) e9Br0%B0
(2) Barodo
(3) DB

(4) Ao Aod &80

0675 & HD T Derardd
(35708 1y (1EPS) DD SPEEHD?

1) DB

(2)  SPENQ ZOIrSyE
3) §8 PT =630 ew
4 S esDd

308 TS’ D Bro ToeErd DN &
RVESTR?

1 B’
2) r8S (D& T°d)
(3) srzger

(4)  @BS® VoASE Tl

BABODS sPg0td PS5 G0 E°YDE JPDdo
(0986 DPdo) 2Dy 2:0h0d ?
(1) 25 o826
A
@ 15 @86
(3]
(3) 7 ddoerd
@) 15 Sdoebd
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70.

71.

72.

What did Mahatma Gandhi do on the first
independence day, i.e., 15-08-1947 ?

(1) He undertook a 24-hour fast at Kolkata.
(2) He unveiled the tricolour on Red Fort.

(3) He oversaw the procession of lakhs of

people at Raisina Hill.

(4) He addressed a massive public meeting

on communal harmony at Kolkata.

The following is an example of Divide and

Rule policy of the British in India.

(1) Dividing the into different

provinces and ruling them

country

(2) Encouraging Hindus and Muslims to

fight against one another

(3) Separating administration of cities and

villages

(4) Discrimination of Indians against the

British citizens

Out of the below mentioned persons, who is

known for relentless work on widow

remarriages ?

(1) Kandukuri Veeresalingam
(2) Duggirala Gopala Krishnaiah
(3) Tanguturi Prakasam

(4) Panuganti Lakshmi Narasimha Rao

(23)

70.

71.

72.
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RXFR.
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73.

74.

75.

Which of the following is not an indication of

true democracy ?

(1)  Free and fair elections
(2)  Respect for individual
(3) Equality before law

(4)  Rule by majority only

Power sharing by communities in a democracy

will definitely

(1)  Accommodate diversities

(2)  Delay decision-making process

(3) Increase instability and divisiveness

(4) Undermine the unity of a country

As per the modern Indian concept of

secularism

(1) State would completely distance from all

religions

(2) State encourages all religious practices

and customs

(3) State would intervene if a religious
practice or custom violates fundamental

rights

(4) State protects all religious practices of

minorities only

(24)

73.

74.

75.

300S” IO DD PP (RIS
© &30 S0 ?

(1) RgER,0H0BF0D SOOI
RRFDBZOD R,F0

(2 B8 T6Ho

(3) ae&oo Pobblelab) c“osﬁJ"ééso

@ 838 o

DTIEV[S” DG DIVEDtY B0y
DN wﬁ&sméo SN IO

(D DIGGRLD e EDy00
(2 QYO PEADR BVRJ0 DR

(3) es%gdéso, ;Smbe.navw.ﬁ)‘l
DoTOA

(4) 33D DE[B BenBRod

DD B8N0 SOBETES 2adDd DS G0

1) oT&0 @b& QTOL PO
BrGor &otd

(2)  TP&0 @) & VoYW Oirew,
STV T\ d

(3) AR VS BT Go FT° VoW OR0
DOD FEE PO EYOLOD
2008 Tago &'gjo BED

@) T TodL S
RONTCOITPLD, ITPT LR AT
DOBE0B



OWH/EP/444

76.

71.

78.

79.

Section - II

The Preamble of the Constitution mentions
this word after “Equality of”

(1) Nationality

(2)  Religion

(3) Community

(4) Status

Which of the following statements about the
Indian Constitution is correct ?

(1) Itis a mere text of written rules.

(2) It does not reflect aspirations of people.

(3) It is a living organism of functional
institutions.

(4) TItis not dependent on people.

The fundamental duties were introduced in

the Constitution

(1) From the beginning

(2) Through the 42nd Amendment
(3)  Through the 44" Amendment

(4) Through the 15 Amendment

Out of the given below Acts, our Constitution

shares many features with the

(1) Government of India Act, 1935
(2) Government of India Act, 1919
(3) Indian Independence Act, 1947

(4) The
with any other Act

Constitution has no similarities

(25)

76.

71.

78.

79.
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80.

81.

82.

83.

Which party had the largest representation in

the Constituent Assembly after Congress ?
(1)  Socialist

(2)  Justice Party

(3) Independents

(4) Muslim League

On which date was the first meeting of the
Constituent Assembly held ?

1) 15™ August, 1946
2) 13" December, 1946
3) 9™ December, 1946

(4) 26" January, 1947

Out of the documents given below, which is

the lengthiest ?

(1) Constitution of Canada

(2)  Constitution of India

(3)  Constitution of South Africa

(4) Constitution of Australia

In India, equality of opportunity in public

employment is available to

(1)  All citizens

(2) Citizens born in India only

(3)  All persons irrespective of citizenship

(4)  All citizens and persons of Indian origin

(26)

80.

81.

82.

83.
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84. By and large, the fundamental rights and the | 84.
directive principles are
(1) Contradictory to each other
(2)  Exclusive to each other
(3) Complementary to each other
(4)  One and the same
85. The Directive Principles are 85.
(1) Mere moral precepts
(2) Legally enforceable
(3)  Entirely prohibitory in nature
(4) Providing positive mandate to the State
86. Which of the following is not a fundamental 36.
duty ?
(1) To promote a religion
(2)  To respect the National Flag
(3) To render compulsory service, if called
for
(4) To safeguard public property
87. Which of the following may not be called a 87

feature of a true Federation ?

(1) Decentralization of power to local bodies
(2) Independent Judiciary

(3) One Nation One Tax

(4) Bicameral Legislature

PP PEE ) e, 3338

QAIPTPL

(1) 28 oS 288 HB8B8o
2) QPO D DD

3) :Jd{obd RyCs°e

(4)  Cotir g €3

233338 Argren?

(1) Bdvo JBE drgren
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88. For the purpose of Article 53(1) of the|88.
Constitution, Ministers of Government of
India are
(1)  Officers subordinate to PM
(2)  Officers subordinate to President
(3) Not subordinate to anyone
(4) Officers subordinate to Parliament
89.
89. Parliament is
(1) President and the two Houses
(2)  Vice President and the two Houses
(3) Vice President, Speaker and the two
Houses
(4)  The two Houses
90.
90. Who appoints the protem speaker of the Lok

Sabha ?

(1) The seniormost member becomes protem

speaker by rule

(2) Appointed by consensus

(3) The President

(4) The Chief Justice of India

S H(CTeTe) 53(1) ©&8Ces0 VS°Co 2Ges
QEOSD) oGO

(1) OEP008S8 QS QD
(2) oY DAS 9D WO
(3) D08 whHIeD S

4)  FrgR0058 dd s

5‘92)00&‘5 90837
(1) TPRQDD QH0O030 Boddd ity Desen

g &

2 &0 W‘gbé 0003 Tocd W&

3 & ?obsé 00030 Bocw

&
(4) 8ol e ESTAISY)

8 03 o) dg (TO) 0ygb
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(1D deocd P60 DAoHE  Dge
o) 08 (TED) 286 0DT®
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91. In the context of election to the post of|91.
President, the following post held by a

contestant is treated as “Office of Profit” :
(1)  Vice President
(2)  Governor
(3) Minister
(4) Comptroller and Auditor General
92, Who resigned as Vice President before
contesting the election for President ? 92.
(1) Dr. S. Radhakrishnan
(2) V.V.Giri
(3)  Dr. Zakir Hussain
(4) R.Venkataraman
93. The Constitution of India does not provide for 93.
the following :
(1) President’s Rule at Union level
(2) President’s Rule at State level
(3) Martial Law in an area
(4) Special status to States other than
J&K
94. In Lok Sabha, no confidence can be moved 94,

against

(1) The Prime Minister
(2)  Any minister

(3) Speaker

(4) The Government
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95. Coalition Government is 95.
(1)  Specifically mentioned in the

96.

97.

98.

Constitution

(2)  An arrangement of convenience amongst
political parties

(3) At the will of the President

(4) At the will of the Speaker of the Lok
Sabha

Which of the following is a condition of

eligibility for appointment as Attorney

General ?

(1) Qualified to be appointed as a High
Court Judge

(2)  Any Advocate

(3)  Qualified to be appointed as a Supreme
Court Judge

(4) Any
background

eminent person with legal

The number of seats of Lok Sabha would

remain unchanged till

(1) 2020
(2) 2022
(3) 2025
(4) 2026

The term of Lok Sabha is five years from
the

(1) Last polling day

(2) Date of proclamation by the President
(3) Appointed date for its first meeting

(4) Date of election of Speaker

96.

97.

98.
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99. How many seats are reserved for Scheduled 99.
Castes and Scheduled Tribes in the Rajya

Sabha ?
(1) Nil
(2) 45
(3) 55
(4) 60
100.
100. In case a member of the Lok Sabha becomes
liable for disqualification (for reasons other
than defection), whose decision would be
final ?
(1) Speaker
(2)  Speaker after consultation with Election
Commission of India
(3) President on his own
(4) President after consultation with
Election Commission of India
101.
101. Which of the following is not correct in the

matter of removal of a Supreme Court Judge ?

(1)

The order of removal is passed by the
President.

(2) President shall conduct an enquiry
before the motion of removal is moved in

the Parliament.

(3) The removal

is on the grounds of

“misbehaviour or incapacity” only.

In the Parliament debate is allowed on

4)

the motion of removal.

Tog S DEPHS LHOBRL SOBOKD
DEFS B0D Iy cg*’mw 26¢
Yoegran

(1) AW FD

(2) 45

3) 55

4) 60

20EDY 08 S°E D R 1T

Qs&ow% O (3"‘36D 2T°O0Y)
NITa TN SPK0G°) DHDOO oA
Qgado ?

]

(1D 286

(2) P IJ) o Dozvo &
RORBODD BETS D86 AOLD

Ddo.“uo
o*’qooeié @50330 fi)domo

56 ) g Voo &
R0HO0ND ST ToROB
émsa:s Dgaso ©

3
4)

VB0 & TJODPOR) JFgaErg

FORoB NE0DLH DoodoD), SodTeIeS

A& davo 5°¢0 ?

1) Sohod) &G0 U°qooe‘3
2B .

FGD00e5 &S° TR0z éO"&c‘bo
oé%a(wmbé Febblal) U‘uqoe‘:a
DT Ee 63.5%1)

SN0 SHVo “CONRHDED Soe
TGS /VDOGS” WOTV TP
€&00R.

SohoD) éo*’&éo P Fg0és &°
DGy £ V008 &otod.

(2)

3

(4)



OWH/EP/444

102.

103.

104.

Which of the following courts is vested with

the power to punish for its own contempt ?

(1)  Supreme Court or High Court

(2)  Any court of law

(3)  Any Tribunal and Court of law

(4) Any quasi-judicial and judicial authority

When the President seeks opinion of the
Supreme Court under Article 143

(1) He is bound by the opinion

(2) The opinion is not binding on him

(3) Supreme Court may refuse to give

opinion

(4) He has to refer the opinion to the

Council of Ministers

“State” as mentioned in Article 12 of the

Constitution does not include

(1) State Governments

(2) Parliament of India

(3)  Service Associations of employees

(4) Supreme Court of India

(32)
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105.

106.

107.

108.

Which article of the Constitution specifically
mentions Public Interest Litigation ?

(1)
(2)
(3)
(4)

Article 32
Article 13
Article 131

There is no such article

Which of the following is an example of
Judicial Activism ?

(1) of Court

Interstate River Water Dispute

Decision Supreme on

(2)

Decision of Supreme Court on rights of
third gender

3
(4)

Decision of a High Court in a tax appeal

District Court
ownership of land on which a public

Decision of a on

park is built

Writ of Prohibition is available against
(D
(2)
(3)
(4)

Judiciary and quasi-judicial bodies
Administrative authority
Any public body

Judicial and administrative bodies

Which of the following States has special
constitutional provisions applicable only to
that State ?

(1)
(2)
(3)
(4)

Madhya Pradesh
Orissa

Uttar Pradesh
Andhra Pradesh

(33)
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109.

110.

111.

112.

The minimum number of seats in the

Legislative Assembly of any State is
(1) 40
(2) 50
(3) 60
(4)

There is no minimum number

As stated in the Constitution, the Republic of
Indiais a

(D
(2)
3
4)

Union of States
Federation of States
Coalition of States

Conglomeration of States

Parliament can make law on a subject in the
“State List”

(1)
(2)

In all circumstances

In case of few constitutionally specified
exceptions

all
concurrence of the President

In circumstances with  the

(3

In no circumstances

(4)

The Union executive
(1)
(2)

Cannot issue directions to a State

Can issue directions to a State without
any constraint

(3) Can issue directions to a State on

certain matters and occasions where
need is felt

(4) Can issue directions to a State in all
matters with the approval of the Rajya

Sabha

(34)
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113.

114.

115.

116.

Under which article of the Constitution is
Interstate Council established ?

(1) Article 263
(2) Article 262
(3) Article 261
(4)  Article 260

Which article of the Constitution states that
“No tax shall be levied or collected except by
authority of law” ?

(1) Article 267
(2)  Article 266
(3) Article 265

(4) Article 264

Who appoints the Finance Commission at the
Union level ?

(1)
(2)
(3
(4)

Finance Minister
President
Prime Minister

Parliament of India

NTR Vidya Jyoti is a
(1)

Pre-matric for
Scheduled Tribe students in class IX and

X

Scholarship Scheme

Overseas Scheme for

Scheduled Tribe Women students

(2) Scholarship

(3)  Merit Scholarship Scheme for Backward

Class students

Scheduled

students

(4) Training programme for
Caste/Scheduled Tribe

preparing for civil services examination

(35)
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117.

118.

119.

120.

The
General is equal to that of a

salary of Comptroller and Auditor

(1) Judge of Supreme Court of India

(2)  Chief Justice of India

(3) Cabinet Secretary of India

(4)

Secretary to Government of India

The 10th Schedule of the Constitution deals
with
(1) Official Languages

Defections

(2)
3

Land reform legislation

(4)

Panchayat Raj Institutions

As per present laws, which of the following
can levy tax on agriculture ?

(1)  Union Government
(2) Both Union and State Governments
State Government

3

(4)

Neither Union nor State can levy tax

Out of the given below, who has original
jurisdiction to deal with an election petition ?

(1) Returning Officer

(2) Election Commission
(3) District Court

(4) High Court

(36)
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121. The expenses of a  State Public Service|191,
Commission are
(1) Charged to the Consolidated Fund of the
State
(2) Voted to the Consolidated Fund of the
State
(3) Charged to the Contingent Fund of the
State
(4) Voted to the Contingent Fund of the
State
122. Number of seats reserved to Scheduled Castes | 122.
and Scheduled Tribes in educational
institutions are determined on the basis of
(1)  Social Backwardness
(2)  Economic Status
(3) Proportion of Scheduled Castes and
Scheduled Tribes in the population
(4) As fixed by the institution
123. The Andhra Pradesh Lokayukta cannot
investigate on actions taken by the
123.

(1) Members of Legislative Assembly

(2)  Chief Minister

Ministers of Andhra Pradesh

Government

3

(4)  Vice Chancellor of a State University
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124.

125.

126.

In which of the following situations contempt
of court may not arise ?

(D

Scandalizing and lowering the authority

of a court

(2) the

Interference with or obstructing

judicial proceedings

3

Complaint against a court to the higher

court

(4) A judge denigrating other judges of the

same court or higher court

How many members would be there in the
National commission for Scheduled Tribes

apart from the Chairman and the Vice
Chairman ?

1 3

(2 4

3 5

(4 6

Which of the following is a measure of
protective discrimination ?

(1) Preferential financial aid to Self Help

Groups

of
employment to Scheduled Tribes

(2)  Reservation posts in public

3

Appointing only people from one region

in public jobs

(4)

Scholarships for minority students

(38)
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127.

128.

129.

Which of the following is a function of the
National Commission for Scheduled Castes ?

(1) To provide scholarships to SCs

(2)

To raise a force for protection of SCs

and advise on the

of

(83) To participate

planning process socio-economic

development of SCs

To
Union level

4) implement Welfare Schemes at

The Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Amendment Act,
2015 broadly covers

3 areas

(D

(2)

5 areas

(3

7 areas

9 areas

(4)

Whose decision is final in vesting of the rights
the Scheduled Tribes other
Traditional Forest Dwellers (Recognition of
Forest Rights) Act, 2006 ?

under and

(1) District Level Committee
(2) Central Government
(83) Gram Sabha

(4) District Forest Officer

(39)
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130.

131.

132.

As Dowry Prohibition Act, the
following amounts paid at the time of
marriage may not be considered as dowry :

per the

(1) Money paid by father of bride to father

of bridegroom on demand
(2) Money paid by father of bride to sister of
bridegroom on demand
(3) Money paid by father of bridegroom to
father of bride on demand
(4) Presents received by bridegroom from
different persons which are listed

Under the Prohibition of Employment as
Manual Scavengers and their Rehabilitation
Act, 2013

(1)

Insanitary latrines are banned
(2)  Cost of construction of sanitary latrines
would be met by Government

3

Open defecation is banned
(4) Manual Scavengers are recruited in
Government jobs

Which of the following Acts provides for

punishment for the of

Untouchability ?

practice

(1) The Human Rights and Dignity Act

(2)  Protection of Civil Rights Act
(3) The Untouchability Eradication Act

(4) The Scheduled Caste Protection Act

(40)
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133.

134.

135.

Under the Lokpal and Lokayukta Act, 2013,
every State will have

(1) A Lokpal

(2) A Lokpal and few Lokayuktas

(3) A Lokayukta

(4)  Chief Lokayukta and Lokayutas

In an institution declared as a Minority
the
Government, the percentage of reservation of

Educational Institution by Central

seats for Scheduled Caste students is

1) 15%

(2) 10%

3) 5%

(4) Nil

Which of the following is an example of
bonded labour ?

(1) A child working in his family shop
without remuneration

(2) A child working in a brick kiln without
being allowed to leave

(3) A child artiste working three shifts a
day

(4) A child not going to school and finding

occasional work

(41)
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136.

137.

138.

In which of the following years, did the
Commission of Sati (Prevention) Act come into
force ?

(1) 1986

(2) 1987

(3) 1988

(4) 1989

Who is eligible to file a petition seeking
information under the Right to Information
Act, 2005 ?

(1)

Any person

(2)

Any citizen

(3

Any registered voter

(4)

Any person or a company

As part of its work related to protection of
human rights, on which disease, did the
National Human Rights Commission take
various initiatives including submission of a
special report to the Parliament ?

(1)

Dengue
(2) Heat Stroke
Silicosis

3

(4) Leprosy

(42)
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139.

140.

141.

What is the scholarship amount towards
fee and living expenses to Scheduled Caste
and Scheduled Tribe candidates
under the Ambedkar Overseas Vidya Nidhi

selected

scheme for higher studies abroad ?

(1) ¥ 10lakhs
(2)
(3)
(4)

T 15 lakhs
T 20 lakhs
T 25 lakhs

The scheme for extending financial assistance
by Government of Andhra Pradesh to Tribal
girls at the time of marriage is named as

(1)
(2)
(3)
(4)

Giri Kanya Kalyana Pathakam
Giri Puthrika Kalyana Pathakam
Giri Kumari Kalyana Pathakam

Giri Yuvathi Kalyana Pathakam

Which of the following is one of the targets
laid down in Comprehensive Project for Coffee
Development in area of ITDA,

Paderu ?

Agency

Establishment of 1000 retail outlets all
over the country

(1)

Extension of coffee cultivation to other
tribal districts

(2)

3

Training of 50,000 farmers in coffee

processing

(4)

Expansion of the coffee plantations by
1,00,000 acres

(43)
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142. How much percentage of subsidy is granted to | 142.
a tribal belonging to PVTG category, in

specified development schemes ?

(1) 60% of the Unit cost or T 1 lakh,
whichever is lower

(2) 75% of the Unit cost or T 1 lakh,
whichever is lower

3) 90% of the Unit cost or ¥ 1 lakh,
whichever is lower

(4) 100% of the Unit cost or ¥ 1 lakh,
whichever is lower

143.

143.

144.

Out of the below, which is one of the objectives

of Chandranna Cheyutha Scheme ?

(1) To conduct employability linked skill

development programmes for

unemployed Scheduled Caste youth

(2) To conduct employability linked skill

development programmes for

unemployed Scheduled Tribe youth
(3)

To award pensions to old persons of age

65 and above

(4)

To award pensions to old persons of age
75 and above

The scheme implemented through SERP to
fight the poverty of the poorest of the poor in
Scheduled Castes is

(D
(2)
3
4)

Anuraga Hastam
Unnathi
Anna Deevena

Velugu

144.
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(2)

3

4)
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(3)
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145.

146.

147.

Out of the below, who would be eligible in the
Land Purchase Scheme for Scheduled Castes ?
(1) Landless poor Scheduled Caste Women

Scheduled

irrespective of Gender

(3) SHG of Scheduled Caste Women only

(2) Landless poor Caste,

(4) Landless poor Scheduled Caste family
only

Which age group children are eligible
under the “Giri Gorumuddalu” programme
implemented in tribal areas to eradicate
malnutrition ?

(1) 3 yearstob years

(2) 3 yearsto 6 years

(3) 7 months to 5 years

(4) 7 months to 6 years

After the abolition of plan and non-plan
distinction, what happened to the allocations
under Tribal Sub Plan ?

1) Al
developmental programmes

funds are meant for general

(2)  Only funds related to special schemes
for Scheduled Tribes are available to
them

(3) The special schemes for Scheduled
Tribes are abolished

(4) Commensurate allocation of funds in
schemes is made under the Scheduled

Tribe Component

(45)
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148. Under the animal husbandry scheme for|148.
Scheduled Castes implemented by Andhra
Pradesh  Scheduled Castes Cooperative
Finance Corporation Ltd, which of the

following can be purchased by a beneficiary ?
(1)  Poultry birds
(2) Cattle sheds
(3) Graded Murrah Buffaloes
(4) Feed plants
149. Under the rehabilitation programme for
Bonded Labour, how much amount would an | 149.
adult bonded labour get from Government as
one time assistance ?
(1) < 10,000
(2) < 20,000
(3) < 50,000
(4) < 1,00,000
150. Who/What is the source of the Constitution of
India ?
e 150.

(1) The British Democracy

(2) The leaders of freedom movement
(3)  The people of India

(4) The Supreme Court

2208 DAT bdstgeé SUSLSRNCS I [6E

202 eaasdéanesﬁ
[}

BB, DETYS Sered

%é’?oﬁ)e‘é DI VoIGD Do 306

Lol 20OST B Sofew

Esai)érbo‘)éo?

2900

(D g‘f%@)

2) DIodHw & ¢ren

3) & TodS Soge Aden
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b%;;) SOV YITTRD SPE[E00 S0
28 HAArRD 2)%)3 S"O&éodé Qe:_a)eéso
Qo Do “ewE FB DFADAN” §odd

290038008 ?
(1) < 10,000

(2) < 20,000

(3) ¥ 50,000

(4) T 1,00,000
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